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Practice 

 

 

Arithmetic 

 

 

Problem Solving 

Task 1                            
Award TWO marks for all three values correct 
as shown: 
Banana 

2cm              2mm       2m       20m 

Apple 

2g       20kg       200kg              2kg 

fruit juice 

2ml       2l       20ml              20l 

 

Task 2 
400 
 
 

Task 3 
Award TWO marks for the correct answer of 
119. 

If the answer is incorrect, award ONE mark 
for evidence of an appropriate method, e.g. 

•        140 ÷ 20 = 7 
3 × 7 = 21 
140 – 21 
OR 

•        140 ÷ 20 = 7 
20 – 3 = 17 
17 × 7           

Reasoning 
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